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1) Find the center and radius of (x+2)’ +(y—-5)°=9.
Center (-2,6)
Todws = 3

2) Find the center and radius of (x—2)"+(y+3)’ =16.
tenter (2,3)
radwg -4

For problems 3-9, write the equation for the circle with the given characteristics.

3) center (2,4) and radius 7 (%-2)% (y-4) 249
h k X ¥

4) center (-3,0)and (0,2 l{)) as one endpoint of the diameter

(xe3)4(y-0)%:r* By v (X*3)14gzz 124

(@+3)*+(2470) =1 ? r=iey

(1) 2+ (4-10) =¥ 2 (-3 {%

M4 +Y40:=v?¢ Ytlm contey (5.2)

5) endpoints of the diameter are (4,2)and (6,2) | redus:1
| (4-5)% (y-2)% |/ R

XY
6) endpoints of the diameLeE are (-1,2) and (5,6)
wmmmm=(w§ Uy),(i E);@N) e center

) 7 1‘2

('l'?. z:} 2-4 l:Yz q+‘1:¥" 2 S =" '“: =t
) ( ) / 13:c% \ (XJ) +‘~\f"q) = 13 |

(2) (-0 %r

r: {13
* 7) center (7,3)and tangent to the x-axis
Yadws-3

(x-N%4(y-3)% 9 1 !
] r=3




% 8) center (7,3)and tangent to the y-axis —
Y:* B + 1 L i 1

IKW)1+(1-3)1=4Q7

h K X ¥
9) center (7,-2)and contains the point (3,3)

r=Jq) (x-‘l)l;(g-ﬂ.)l: L{q

(x-N % (ye2): 2

BN Ga)ir?
(4)%e(s) 2 v?
lb+26:-v?

Yj=vz
10) Find the x- and y-intercepts of the graph of the circle given by the equations:

o (x -4 +(y-2) =16'

wnt: (x4) ¢ (0-2) %16 -t (o) % (y-2)% 16

(x4 42 lo+(y-2)% 10
(x-4)’:12 (y-2)=0
X“htm \l; a
X=Y .t»h—d (o 2)
)
x 2146, x90.54
b. (x +5)° +(y-4)*=25
§ . Y
X2 (048) "+ (y-4)*= 28 yANE: (x+5) %6 (0-4) % 28
26 +(y4)%28 (%45)*+ 1b = 2¢
(Y“'\)L.:O ()“S)l‘q
Y= 4
X+5= 3

@ X+ 436

X136  A=35
x=-a A%

(-2.0) ('8,0_17




